GSEPreCalculus- Test 3: Intro to Trig                                                                       Name______________________________
WS 3.4 – Coterminal/Reference     	                        	                  Date___________________ Day ________

Determine two coterminal angles (one positive, one negative) and the reference angle for each of the following.  If the original problem is in degrees, then your answer is in degrees.  If the original problem is in radians, then your answer should be in radians.




1. 				2.   			3.  			4.  
Positive:_____			Positive: _____			Positive: _____			Positive: _____
Negative:  _____		Negative:  _____		Negative:  ______		Negative: _____
Reference:  _____		Reference:  _____		Reference:  _____		Reference: _____






5.  			6.  			7.  				8.  
Positive:_____			Positive: _____			Positive: _____			Positive:  _____
Negative:  _____		Negative:  _____		Negative: _____		Negative:  _____
Reference:  _____		Reference:  _____		Reference: _____		Reference:  _____



Determine what quadrant in which the angle lies.
9. 



			10.  			11.   			12.  		
	

Sketch the angle in standard position.




        13.  			14.  			15.  			16.  





Convert into radians.



17.  				18.  				19.  

Convert into degrees.



20.   				21.  				22.  


Find the length of the arc.
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